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For it is a perennial puzzle why no woman wrote a word of that extraordinary
literature when every other man, it seemed, was capable of song or sonnet.
What were the conditions in which women lived? I asked myself; for fiction,
imaginative work that is, is not dropped like a pebble upon the ground, as
science may be; fiction is like a spider’s web, attached ever so lightly perhaps,
but still attached to life at all four corners. Often the attachment is scarcely
perceptible; Shakespeare’s plays, for instance, seem to hang there complete
by themselves. But when the web is pulled askew, hooked up at the edge,
torn in the middle, one remembers that these webs are not spun in mid-air
by incorporeal creatures, but are the work of suffering human beings, and are

attached to grossly material things, like health and money and the houses we

live in.
Page 35 | A Room of One’s Own
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Source:http://gutenberg.org
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Section - 2 English (Descriptive) Mark : 50

14. Write an essay on any one of the following in 200 to 250 words. It

should exhibit your grasp and critical understanding of the subject in the

best possible individual style having originality of thought and expression.

It must be well argued piece of writing coherently and sequentially with

observance of grammar rules. 10
A) NOTA - An option for voters in Indian Elections: How effective?

B) Concept of social audit of public policies.

C) Expenditure Tax: A better choice than Income Tax?

D) Attracting international tourists to Gujarat - My plan

E) Diversity is India’s biggest strength

15.  Write a précis of the following passage (301 words) in 100 words. 5

*

The effect of globalization on the power, status, and use of Indian

languages is not immediately visible like its (globalization’s) effect on

economy, industry etc. However, on language, globalization has indirect

but highly effective and long lasting impact. Education and employment

opportunities are directly related. So also are education and language.

As education is a commodity, language that is used to impart

instruction also has turned out to be a commodity. Only a saleable

commodity remains in the market and others go out of the market.

The education sector provides goods — human resources to both market

and technology. The market decides employment opportunities, and the

employability of the human resource. Now, more than ever, the educated

individuals have become a commodity ready for export.

When higher education, as a commodity, is getting privatized, the

educational curriculum also is getting tailored to the needs of the private

companies. The traditional strongholds of basic sciences do not attract
students. There is hardly anybody opting for B.A., B.Sc., M.A., M.Sc.

etc. and all long for Engineering, Business Management, Computer

Science, etc.
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There is a total shift in the focus of higher education. The school
education is forced to cater to the demands at the higher education level,
by preparing the students from that stage itself. Even then, basically the
education is directed more towards social goals, and the higher education
is more focused on economics and industrial goals. Thus, a divide that
existed even before the processes of globalization were set in motion,
is now made much wider. The frenzied preparation of the students at
the higher secondary level of education for entrance to the professional
courses is symptomatic of this growing divide.

A study conducted by ‘The Asian Age’ (Jan., 12, 2000) in Bangalore
portrays the parents and students choice of language education.

Page 154, 155 | ‘Language, society and culture’
Article by
B. Mallikarjun

16. Read the following passage carefully and answer the questions that
follow. 5

A man is said to pass through different stages in his lifetime. Dr
Wayne W. Dyer, in his book Manifest Your Destiny, makes an interesting
categorization of them as athlete stage, warrior stage, statesperson stage
and spirit stage. It occurred to me that nations too make a similar
transition and in extending this analogy to them I have termed the last
two stages big brother and self-realization stages respectively. The stages
do not follow in sequence necessarily; they can be coexistent, with one
aspect dominant.

In the first, athlete stage, a nation fresh from an independence
struggle, or some other transition, embarks on an energetic pursuit of
performance and achievement. This has happened in Japan, Singapore and
Malaysia. When a nation leaves this stage behind, it generally enters the
warrior stage. Proud of its achievements, it finds ways to demonstrate
its superiority over others, perhaps through conquest. Ego is the driving
force. During this stage people are busy with goals and achievements in
competition with others and this, as Dyer points out for the individual,
generates anxiety. Convincing others of its superiority becomes the theme.

In the next, big brother stage, the ego has been tamed somewhat and
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17.

17.1

17.2

with its newfound maturity awareness shifts to what is important to
other nations and societies. In the big brother stage the nation is still
an achiever but it is not so obsessed with proving its strength. The
idea is to help others become better. The erstwhile Soviet Union by its
developmental role in some countries had adopted this role.
Page 5, 6 | ‘Ignited Minds’
by
Dr. A.PJ. Abdul Kalam
Questions:
a) How is a nation similar to a man?
b) What are the stages of transition in a man’s life?
c¢) When does a nation embark on an athlete stage?
d) What is common between Japan and Singapore?
e) During what stage does a nation try to demonstrate its superiority
over others?
f)  What causes awareness about what is important for other nations?
g) What causes anxiety in individuals?
h) Which country made a transition from the warrior stage to the
big brother stage?
1)  What are the last two stages in the transition of nations?
j)  Which book was written by Dr. Wayne W. Dyre?

Do as directed. Choose the correct answer by darkening the 20
circle as well as write the correct answer in the bracket.

(Capital Letter) from the given options.

Use the word in bracket and write the sentence in the future tense.
Keep similar meaning.

The tickets will be available on Tuesday. (Printed)

The tickets .............. by Tuesday.
a) Will be printed b) Will have been printed
c) Will print d) Can get printed

Some verbs very frequently used in the passive voice are followed by the
.............. infinitive.

a) for b) to

c) by d) from
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17.3 Match the direct word with Indirect.

1. Now a. There
2.  here b. Then
3. Today c. So
4. Thus d. That day
a) 1-d, 2-c, 3-b, 4-a b) 1-c, 2-d, 3-a, 4-b
c) 1-b, 2-a, 3-d, 4-c d) 1-a, 2-b, 3-c, 4-d
174 Alan ... sentence contains at least two independent clauses, with the
writer giving equal emphasis to both.
a) Assertive b) Compound
c¢) Complex d) Interrogative

17.5 Identify a complex sentence from the given choices:
a) Buy two shirts and get one free
b) If you buy two shirts, you get one free.
c) Buy two shirts to get one free.

d) Buy two shirts, get one free.

17.6 Fill in the blank with an appropriate article.

................... man is moral

a) A b) An

c) The d) No article required
17.7 Which one is the specific determiner?

a) Any b) Another
c) What d) Which

17.8 Complete the sentence by using appropriate preposition.

......... getting a large fine, both brothers were put in prison for three

months.
a) Because of b) In addition to
c) In spite of d) On account of
17.9 Phrasal verbs are nearly always made up of a ........... and a ........
a) Transitive verb and particle b) Transitive verb and object

¢) Transitive verb and preposition d) Transitive verb and adverb
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17.10 Fill in the blank with correct phrasal verb.
To be honest, I think it was the cigarettes, and not the drink, that finally

did him ......
a) Out b) In
c) Off d) Down

17.11 Match the idioms with their meanings.

1. Play it by ear a. to pretend not be have noticed it.

2. Turn a blind eye b. to take steps towards achieving peace
with a enemy.

3.  Know the ropes c. decide on a course of action as you

go along.
4. Extend the olive branch  d. experienced at what they are doing.
a) l-a, 2-b, 3-c, 4-d b) 1-d, 2-c, 3-b, 4-a
c) l-c, 2-a, 3-d, 4-b d) 1-b, 2-d, 3-a, 4-c
17.12 Administrative term FPR stands for -

a) First Proposal Received b) First Proposed Receipt

c) Final Proposed Revision d) Final Proposal Revision

17.13 Match the synonyms.

1. Abdicate a. familiarize

2. Abstain b. abandon

3. Attrition c. refrain

4. Acquaint d. decline

a) l-a, 2-b, 3-c, 4-d b) a-b, 2-c, 3-d, 4-a

c) l-c, 2-d, 3-a, 4-b d) 1-d, 2-a, 3-b, 4-c
17.14 Match the antonyms.

1. Dismal a. mirthless

2.  Lofty b. energetic

3. Merry c. cheerful

4. Lazy d. lowly

a) 1-b, 2-c, 3-d, 4-a b) 1-a, 2-b, 3-c, 4-d

c) 1-d, 2-a, 3-b, 4-c d) 1-c, 2-d, 3-a, 4-b
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17.15

17.16

17.17

17.18

17.19

17.20

Substitute appropriate one word for ‘the words surrounding a particular
word those help to give it its meaning....’

a) Text b) Context

c) Reference d) Phrase

Fill in the blank with proper cohesive device.

I used to work fifteen hours a day. .................. that, my present job is
more like holiday!

a) Compared with b) In comparison with

c) In the same way d) Similarly

Which one of the following is temporal/time connective?
a) Lastly b) Consequently
c) Since d) Still

Identify the most logical expression by considering the usage of linker.
a) It was raining so I stayed at home.

b) It was raining because I stayed at home.

¢) It was raining although I stayed at home.

d) It was raining inspite I stayed at home.

An element placed within a word to adjust or qualify its meaning is called

a) Infix b) Prefix

c) Suffix d) Affix

Match the meaning of commonly confused words.

1. All together a. all in one place, all at once.

2. Altogether b. completely, on the whole

3. Amoral c. not concerned with right or wrong

4. Immoral d. not following accepted moral standards
a) 1-d, 2-c, 3-b, 4-a b) 1-c, 2-d, 3-a, 4-b

c) 1-b, 2-a, 3-d, 4-c d) 1-a, 2-b, 3-c, 4-d
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18.

Translate the following passage from Gujarati into English.

AR 21 dldd ogu 9 5 2l ML Uldidl slamidl sudl avil
ot el war sél glal 9di 2 ddidl 2iadl oad slavil asdl
adl. 2 die ugl 6523 Rassl Yadl HisAl U9l BiHL i AsAdl 4
woll. tugel Fassiiedl i qre s2dl qdldl uid s2d updl 89 il
sl s2al €25 lsedl a vl 3 dlan vl seser ual [Rassid
vidl GIPML GRAL HigAL - AdiMeAl VSR WA, Vd A 5 w1 [Eau
Vidl HIZ URL YRAR 49 Udd dldle 3U 291 dl Udd e d Ul
o, gLledl il ausiki Udl wdleldl mgRia sicardl sia Hadl 2w,
Ul ogell aldl A a8 el vid Al Al waandl diui gl iz
Guidl, sl auvid idl adl Gsdl wd widl Auski wd qdld goudl.
W Vidl ddlMUL 2l quid 5895 deondl Hiol Sl 2, 2dsiarléd d
Al gdl v gLlell vzl 2] oA 5 ot A vl 9 uid isdl v
o Vi el

Y. 04 ddiedl €0y or<rui <4l < udlol =29
59 s ‘U oysd A IR A2 U2 ofld’dl vddle
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